Laredo Community College Grade Distribution by Course & Discipline Totals by Department SSI 2017

	# of	Total	A':	5	B	's	(C's		D's		P's		NP's		F's		l's	Ν	IC's	W	/'s
Departments	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Allied Health	15	174	112	64.37%	28	16.09%	10	5.75%	2	1.15%					3	1.72%	13	7.47%			6	3.45%
Art	5	104	68	65.38%	19	18.27%	5	4.81%	2	1.92%					7	6.73%					3	2.88%
Business and Management	9	155	79	50.97%	49	31.61%	13	8.39%	3	1.94%					5	3.23%	1	0.65%			5	3.23%
CIS/Electronics/CAD	7	122	49	40.16%	43	35.25%	12	9.84%	4	3.28%					7	5.74%					7	5.74%
English	32	490	204	41.63%	120	24.49%	88	17.96%	15	3.06%	1	0.20%			27	5.51%	1	0.20%	14	2.86%	20	4.08%
Foreign Languages	7	106	58	54.72%	30	28.30%	11	10.38%	4	3.77%											3	2.83%
Industrial Trades	5	52	13	25.00%	20	38.46%	14	26.92%	4	7.69%					1	1.92%						
Kinesiology	8	69	15	21.74%	21	30.43%	8	11.59%	8	11.59%	11	15.94%									6	8.70%
Mathematics	34	555	276	49.73%	128	23.06%	64	11.53%	7	1.26%	4	0.72%			35	6.31%	1	0.18%	10	1.80%	30	5.41%
Performing Arts	8	43	43	100.00%																		
Nursing (A.D.N.)	3	48	2	4.17%	30	62.50%	16	33.33%														
Nursing Assistant/V.N.	2	56	6	10.71%	35	62.50%	14	25.00%	1	1.79%												
Protective Services	4	63	12	19.05%	27	42.86%	13	20.63%	5	7.94%					2	3.17%					4	6.35%
Reading and Communications	11	238	72	30.25%	67	28.15%	48	20.17%	5	2.10%	2	0.84%			14	5.88%	7	2.94%	6	2.52%	17	7.14%
Science	24	447	185	41.39%	135	30.20%	68	15.21%	15	3.36%					16	3.58%					28	6.26%
Social & Behavioral Sciences	58	1,068	559	52.34%	274	25.66%	133	12.45%	35	3.28%					38	3.56%	2	0.19%			27	2.53%
Transportation Technology	3	28	19	67.86%	8	28.57%	1	3.57%														
Culinary Arts	1	8	7	87.50%	1	12.50%																

Total All Departments	236	3,826	1,779	46.50%	1,035	27.05%	518	13.54%	110	2.88%	18	0.47%		155	4.05%	25	0.65%	30	0.78%	156	4.08%

Success Rate (Grades A,B or C):	3,332	87.09%
Passing Rate (Grades A,B,C or P):	3,350	87.56%
Failing Rate (Grades D,F,I,NP,NC,W):	476	12.44%
Retention Rate (Excluding W's only):	3,670	95.92%

	# of	Total	_	A's		3's		C's	I)'s		P's	N	P's		? 's		I's	N	C's	V	W's
Discipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
						Alli	ed He	ealth E	Depart	ment												
								ECRI														
ECRD 1111 Electrocardiography	1	24	20	83.33%	4	16.67%	0	0.00%		0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total ECRD	1	24	20	83.33%	4	16.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
								EMS	P													
EMSP 2544 Cardiology	1	7	1	14.29%	2	28.57%	4	57.14%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total EMSP	1	7	1	14.29%	2	28.57%	4	57.14%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
								HPR	S													
HPRS 1304 Basic Health Proffsn Skills	1	14	13	92.86%	1	7.14%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total HPRS	1	. 14	13	92.86%	1	7.14%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
								MDC														
MDCA 1254 Med Asst Crednting Exam Revw	1		0	0.00%	0	0.00%	0	0.00%		0.00%	0	0.00%	0	0.00%	0	0.00%	12		0	0.00%	0	0.00%
MDCA 1305 Medical Law and Ethics	1	19	12	63.16%	6	31.58%	0	0.00%		5.26%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
MDCA 1313 Medical Terminology	1	16	13	81.25%	2	12.50%	0	0.00%		0.00%	0	0.00%	0	0.00%	1	6.25%	0	0.00%	0	0.00%	0	0.00%
MDCA 1360 Clinical Medical Asst Adm	2	2	1	50.00%	0	0.00%	0	0.00%		0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	50.00%
MDCA 1361 Clncl Medical Asst Clinical MDCA 1409 Anatomy Physiolgy Med Asst	1	++	6	76.47% 66.67%	2	22.22%	0	0.00%		0.00%	0	0.00%	0	0.00%	0	0.00%	0	5.88% 0.00%	0	0.00%	1	0.00%
Total MDCA	7		45	60.00%	13	17.33%	0	0.00%	· · · ·	1.33%	0	0.00%	0	0.00%	1	1.33%	13	17.33%	0	0.00%	2	2.67%
		10	-10	00.0070	10	17.0070	U	0.0070	•	1.00 /0	U	0.0070	U	0.0070	-	1.0070	10	17.5570	U	0.0070	-	2.07 /0
								OTH	A													
OTHA 2462 Clinical OTA Rotation II	1	11	11	100.00%	0	0.00%	0			0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	1	++	11		0	0.00%	0	0.00%		0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
	I						I				1								1			
OTHA 1305 Prin of Occupatnl Therapy	1	13	2	15.38%	2	15.38%	5	38.46%	1	7.69%	0	0.00%	0	0.00%	1	7.69%	0	0.00%	0	0.00%	2	15.38%
Sub-Total (Distance-Ed)	1		2	15.38%	2	15.38%	5	38.46%	1	7.69%	0	0.00%	0	0.00%	1	7.69%	0	0.00%	0	0.00%	2	15.38%
Total OTHA	2	24	13	54.17%	2	8.33%	5	20.83%	1	4.17%	0	0.00%	0	0.00%	1	4.17%	0	0.00%	0	0.00%	2	8.33%
								DET														
		1 1	1		1		1	PTH A			1		1		1				1		T	
PTHA 1301 Profession of Physcl Therapy	1	10	3			30.00%	1			0.00%	0	0.00%	0	0.00%	1	10.00%	0	0.00%	0	0.00%	2	
Total PTHA	1	10	3	30.00%	3	30.00%	1	10.00%	0	0.00%	0	0.00%	0	0.00%	1	10.00%	0	0.00%	0	0.00%	2	20.00%
								RADI	D													
		10	_	70.000	2	20.000	0			0.000	0	0.0001	0	0.000/	0	0.000	0	0.000	0	0.000/		0.0001
RADR 1362 Clinical Practicum III PADR 1362 Clinical Practicum IV	1	10	7		3		0	0.00%		0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
RADR 1363 Clinical Practicum IV Total RADR	2	1 - 1	10	100.00%	-	0.00% 15.00%	0	0.00%		0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
		20	1/	05.00 /0	3	13.00 /0	U	0.00 /6	U	0.00 /0	U	0.00 /0	U	0.00 /6	U	0.00 /0	U	0.00 /0	U	0.00 /0	U	0.00 /0
Total Allied Health	15	174	112	64.37%	28	16.09%	10	5.75%	2	1.15%	0	0.00%	0	0.00%	3	1.72%	13	7.47%	0	0.00%	6	3.45%

	# of Total		A's	В	i's		C's	1	D's		P's	Ν	NP's		F's		I's	Ν	IC's		W's
Discipline Description	Sects. Enro	llmt	# %	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

	Art Department ARTS PTS 1301 Art Appreciation 2 35 20 57.14% 9 25.71% 1 2.86% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 2 5.71%																					
ARTS 1301 Art Appreciation	2	35	20	57.14%	9	25.71%	1	2.86%	2	5.71%	0	0.00%	0	0.00%	1	2.86%	0	0.00%	0	0.00%	2	5.71%
Sub-Total (On-Campus)	2	35	20	57.14%	9	25.71%	1	2.86%	2	5.71%	0	0.00%	0	0.00%	1	2.86%	0	0.00%	0	0.00%	2	5.71%
ARTS 1301 Art Appreciation	3	69	48	69.57%	10	14.49%	4	5.80%	0	0.00%	0	0.00%	0	0.00%	6	8.70%	0	0.00%	0	0.00%	1	1.45%
Sub-Total (Distance-Ed)	3	69	48	69.57%	10	14.49%	4	5.80%	0	0.00%	0	0.00%	0	0.00%	6	8.70%	0	0.00%	0	0.00%	1	1.45%
Total ARTS	5	104	68	65.38%	19	18.27%	5	4.81%	2	1.92%	0	0.00%	0	0.00%	7	6.73%	0	0.00%	0	0.00%	3	2.88%
Total Art	5	104	68	65.38%	19	18.27%	5	4.81%	2	1.92%	0	0.00%	0	0.00%	7	6.73%	0	0.00%	0	0.00%	3	2.88%

	# of	Total		A's		B's		C's]	D's		P's	Ν	√P's		F's		I's	N	IC's		W's
Discipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Business and Management Department

								ACCI	ſ													
ACCT 2401 Principles of Accounting I	1	16	8	50.00%	6	37.50%	2	12.50%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	1	16	8	50.00%	6	37.50%	2	12.50%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
ACCT 2401 Principles of Accounting I	1	23	9	39.13%	11	47.83%	1	4.35%	0	0.00%	0	0.00%	0	0.00%	2	8.70%	0	0.00%	0	0.00%	0	0.00%
ACCT 2402 Principles of Accounting II	1	16	11	68.75%	4	25.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	6.25%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (Distance-Ed)	2	39	20	51.28%	15	38.46%	1	2.56%	0	0.00%	0	0.00%	0	0.00%	3	7.69%	0	0.00%	0	0.00%	0	0.00%
Total ACCT	3	55	28	50.91%	21	38.18%	3	5.45%	0	0.00%	0	0.00%	0	0.00%	3	5.45%	0	0.00%	0	0.00%	0	0.00%
								BMG	Г													

								DIMGI														
BMGT 1327 Principles of Management	1	9	4	44.44%	4	44.44%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	11.11%	0	0.00%	0	0.00%
Total BMGT	1	9	4	44.44%	4	44.44%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	11.11%	0	0.00%	0	0.00%

								ECON	1													
ECON 2301 Principles of Macroeconomics	1	20	6	30.00%	11	55.00%	1	5.00%	1	5.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	5.00%
ECON 2302 Principles of Microeconomics	1	9	4	44.44%	2	22.22%	2	22.22%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	11.11%
Sub-Total (On-Campus)	2	29	10	34.48%	13	44.83%	3	10.34%	1	3.45%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	6.90%
ECON 2301 Principles of Macroeconomics	1	44	22	50.00%	10	22.73%	6	13.64%	2	4.55%	0	0.00%	0	0.00%	2	4.55%	0	0.00%	0	0.00%	2	4.55%
Sub-Total (Distance-Ed)	1	44	22	50.00%	10	22.73%	6	13.64%	2	4.55%	0	0.00%	0	0.00%	2	4.55%	0	0.00%	0	0.00%	2	4.55%
Total ECON	3	73	32	43.84%	23	31.51%	9	12.33%	3	4.11%	0	0.00%	0	0.00%	2	2.74%	0	0.00%	0	0.00%	4	5.48%

							IBUS														
IBUS 1300 Global Logistics Management	1	1	1 100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total IBUS	1	1	1 100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%

								MRKG														
MRKG 1301 Customer Relations	1	17	14	82.35%	1	5.88%	1	5.88%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	5.88%
Total MRKG	1	17	14	82.35%	1	5.88%	1	5.88%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	5.88%
Total Business and Management	9	155	79	50.97%	49	31.61%	13	8.39%	3	1.94%	0	0.00%	0	0.00%	5	3.23%	1	0.65%	0	0.00%	5	3.23%

	# of	Total	A's		B's			C's	l	D's		P's	N	NP's		F's		I's	N	IC's		W's
Discipline Description	n Sects.	Enrollmt	#)	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

CIS/Electronics/CAD Department

CI)CC	
	121	

								COSC														
COSC 1301 Introduction to Computing	2	40	21	52.50%	12	30.00%	4	10.00%	2	5.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	2.50%
Sub-Total (On-Campus)	2	40	21	52.50%	12	30.00%	4	10.00%	2	5.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	2.50%
COSC 1301 Introduction to Computing	2	43	11	25.58%	16	37.21%	6	13.95%	0	0.00%	0	0.00%	0	0.00%	7	16.28%	0	0.00%	0	0.00%	3	6.98%
Sub-Total (Distance-Ed)	2	43	11	25.58%	16	37.21%	6	13.95%	0	0.00%	0	0.00%	0	0.00%	7	16.28%	0	0.00%	0	0.00%	3	6.98%
Total COSC	4	83	32	38.55%	28	33.73%	10	12.05%	2	2.41%	0	0.00%	0	0.00%	7	8.43%	0	0.00%	0	0.00%	4	4.82%

								DFTG														
DFTG 2312 Technical Illustration	1	15	8	53.33%	4	26.67%	1	6.67%	1	6.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	6.67%
Sub-Total (On-Campus)	1	15	8	53.33%	4	26.67%	1	6.67%	1	6.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	6.67%
DFTG 1309 Basic Computer Aided Drftng	2	24	9	37.50%	11	45.83%	1	4.17%	1	4.17%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	8.33%
Sub-Total (Distance-Ed)	2	24	9	37.50%	11	45.83%	1	4.17%	1	4.17%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	8.33%
Total DFTG	3	39	17	43.59%	15	38.46%	2	5.13%	2	5.13%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	3	7.69%
Total CIS/Electronics/CAD	7	122	49	40.16%	43	35.25%	12	9.84%	4	3.28%	0	0.00%	0	0.00%	7	5.74%	0	0.00%	0	0.00%	7	5.74%

		# of	Total		A's]	B's		C's	1	D's		P's	N	P's		F's		I's	N	IC's	,	W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

English Department

								ENGL														
ENGL 375 Writing I	1	15	0	0.00%	0	0.00%	4	26.67%	0	0.00%	1	6.67%	0	0.00%	0	0.00%	0	0.00%	9	60.00%	1	6.67%
ENGL 1301 Composition I	5	77	56	72.73%	15	19.48%	2	2.60%	1	1.30%	0	0.00%	0	0.00%	3	3.90%	0	0.00%	0	0.00%	0	0.00%
ENGL 1302 Composition II	6	72	23	31.94%	24	33.33%	11	15.28%	2	2.78%	0	0.00%	0	0.00%	4	5.56%	0	0.00%	0	0.00%	8	11.11%
ENGL 2327 American Literature I	3	38	7	18.42%	18	47.37%	9	23.68%	3	7.89%	0	0.00%	0	0.00%	1	2.63%	0	0.00%	0	0.00%	0	0.00%
ENGL 2351 Mexican American Literature	1	13	9	69.23%	2	15.38%	0	0.00%	1	7.69%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	7.69%
Sub-Total (On-Campus)	16	215	95	44.19%	59	27.44%	26	12.09%	7	3.26%	1	0.47%	0	0.00%	8	3.72%	0	0.00%	9	4.19%	10	4.65%
ENGL 1301 Composition I	3	53	46	86.79%	4	7.55%	2	3.77%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	1.89%
ENGL 1302 Composition II	3	60	28	46.67%	9	15.00%	3	5.00%	6	10.00%	0	0.00%	0	0.00%	11	18.33%	0	0.00%	0	0.00%	3	5.00%
ENGL 2322 British Literature I	1	21	17	80.95%	1	4.76%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	9.52%	0	0.00%	0	0.00%	1	4.76%
ENGL 2327 American Literature I	4	70	14	20.00%	31	44.29%	14	20.00%	1	1.43%	0	0.00%	0	0.00%	5	7.14%	1	1.43%	0	0.00%	4	5.71%
ENGL 2328 American Literature II	1	22	4	18.18%	11	50.00%	4	18.18%	1	4.55%	0	0.00%	0	0.00%	1	4.55%	0	0.00%	0	0.00%	1	4.55%
Sub-Total (Distance-Ed)	12	226	109	48.23%	56	24.78%	23	10.18%	8	3.54%	0	0.00%	0	0.00%	19	8.41%	1	0.44%	0	0.00%	10	4.42%
Total ENGL	28	441	204	46.26%	115	26.08%	49	11.11%	15	3.40%	1	0.23%	0	0.00%	27	6.12%	1	0.23%	9	2.04%	20	4.54%
								INRW														
INRW 376 Integrated Reading Writing	4	49	0	0.00%	5	10.20%	39	79.59%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	5	10.20%	0	0.00%
Total INRW	4	49	0	0.00%	5	10.20%	39	79.59%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	5	10.20%	0	0.00%
Total English	32	490	204	41.63%	120	24.49%	88	17.96%	15	3.06%	1	0.20%	0	0.00%	27	5.51%	1	0.20%	14	2.86%	20	4.08%

	# of	Total		A's	P	3's		C's	г)'s		P's		JP's		F's		['s	N	C's	x	V's
Discipline Description		Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
]	Foreig	n Lar	iguage	s Dep	artme	nt											
								ESOI	_													
ESOL 274 Advanced English		1 15	8	53.33%	4	26.67%	3	20.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
ESOL 278 Advanced Engl Communication		2 15	8	53.33%	3	20.00%	4	26.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total ESOL	1	3 30	16	53.33%	7	23.33%	7	23.33%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
								SPAN	1													
SPAN 1411 Beginning Spanish I		1 13	12	92.31%	1	7.69%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
SPAN 2311 Intermediate Spanish I		2 41	15	36.59%	19	46.34%	3	7.32%	2	4.88%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	4.88%
SPAN 2312 Intermediate Spanish II		1 22	15	68.18%	3	13.64%	1	4.55%	2	9.09%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	4.55%
Total SPAN	4	4 76	42	55.26%	23	30.26%	4	5.26%	4	5.26%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	3	3.95%
Total Foreign Languages		7 106	58	54.72%	30	28.30%	11	10.38%	4	3.77%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	3	2.83%

	# of	Total		A's		B's		C's]	D's		P's	N	IP's		F's		I's	N	IC's		W's
Discipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

						Indust	rial [Г <mark>rade</mark> s ELPT	Depa	artmen	t											
ELPT 1311 Basic Electrical Theory	1	8	8	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total ELPT	1	8	8	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
WLDG 1457 Interm Shielded Metl Arc Wldg	2	20	5	25.00%	11	55.00%	3	WLD 15.00%)	5.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
WLDG 2406 Intermediate Pipe Welding	2	24	0	0.00%	9	37.50%	11	45.83%	3	12.50%	0	0.00%	0	0.00%	1	4.17%	0	0.00%	0	0.00%	0	0.00%
Total WLDG	4	44	5	11.36%	20	45.45%	14	31.82%	4	9.09%	0	0.00%	0	0.00%	1	2.27%	0	0.00%	0	0.00%	0	0.00%
Total Industrial Trades	5	52	13	25.00%	20	38.46%	14	26.92%	4	7.69%	0	0.00%	0	0.00%	1	1.92%	0	0.00%	0	0.00%	0	0.00%

		# of	Total		A's		B's		C's]	D's		P's	N	√P's		F's		I's	N	(C's	,	W's
Discipli	ne Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Kinesiology Department

K	IN	ÍF
IV.	LL 🖣	11

							NINE	(
1	11	4	36.36%	4	36.36%	1	9.09%	0	0.00%	2	18.18%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
1	1	0	0.00%	1	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
1	13	4	30.77%	2	15.38%	0	0.00%	0	0.00%	6	46.15%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	7.69%
1	3	0	0.00%	0	0.00%	0	0.00%	0	0.00%	3	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
4	28	8	28.57%	7	25.00%	1	3.57%	0	0.00%	11	39.29%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	3.57%
1	7	4	57.14%	1	14.29%	1	14.29%	1	14.29%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
1	12	0	0.00%	6	50.00%	2	16.67%	2	16.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	16.67%
1	11	2	18.18%	2	18.18%	2	18.18%	3	27.27%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	18.18%
1	11	1	9.09%	5	45.45%	2	18.18%	2	18.18%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	9.09%
4	41	7	17.07%	14	34.15%	7	17.07%	8	19.51%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	5	12.20%
8	69	15	21.74%	21	30.43%	8	11.59%	8	11.59%	11	15.94%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	6	8.70%
8	69	15	21.74%	21	30.43%	8	11.59%	8	11.59%	11	15.94%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	6	8.70%
	1 1 1 4 1 1 1 1 1 4 8 8	1 1 1 13 1 3 4 28 1 7 1 12 1 11 1 11 4 41 8 69	1 1 0 1 13 4 1 3 0 4 28 8 1 7 4 1 12 0 1 11 2 1 11 1 4 41 7 8 69 15	1 1 0 0.00% 1 13 4 30.77% 1 3 0 0.00% 4 28 8 28.57% 1 7 4 57.14% 1 12 0 0.00% 1 11 2 18.18% 1 11 1 9.09% 4 41 7 17.07% 8 69 15 21.74%	1 1 0 0.00% 1 1 13 4 30.77% 2 1 3 0 0.00% 0 4 28 8 28.57% 7 1 7 4 57.14% 1 1 12 0 0.00% 6 1 11 2 18.18% 2 1 11 1 9.09% 5 4 41 7 17.07% 14 8 69 15 21.74% 21	1 1 0 0.00% 1 100.00% 1 13 4 30.77% 2 15.38% 1 3 0 0.00% 0 0.00% 4 28 8 28.57% 7 25.00% 1 7 4 57.14% 1 14.29% 1 12 0 0.00% 6 50.00% 1 11 2 18.18% 2 18.18% 1 11 1 9.09% 5 45.45% 4 41 7 17.07% 14 34.15% 8 69 15 21.74% 21 30.43%	1 1 0 0.00% 1 100.00% 0 1 13 4 30.77% 2 15.38% 0 1 3 0 0.00% 0 0.00% 0 4 28 8 28.57% 7 25.00% 1 1 7 4 57.14% 1 14.29% 1 1 12 0 0.00% 6 50.00% 2 1 11 2 18.18% 2 18.18% 2 1 11 1 9.09% 5 45.45% 2 4 41 7 17.07% 14 34.15% 7 8 69 15 21.74% 21 30.43% 8	$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	1 1 0 0.00% 1 100.00% 0 0.00% 0 </td <td>1 11 4 36.36% 4 36.36% 1 9.09% 0 0.00% 2 18.18% 0 0.00% 0</td> <td>1 11 4 36.36% 4 36.36% 1 9.09% 0 0.00% 2 18.18% 0 0.00% 0</td> <td>1 11 4 36.36% 4 36.36% 1 9.09% 0 0.00% 2 18.18% 0 0.00% 0</td>	1 11 4 36.36% 4 36.36% 1 9.09% 0 0.00% 2 18.18% 0 0.00% 0	1 11 4 36.36% 4 36.36% 1 9.09% 0 0.00% 2 18.18% 0 0.00% 0	1 11 4 36.36% 4 36.36% 1 9.09% 0 0.00% 2 18.18% 0 0.00% 0									

		# of	Total		A's]	B's		C's	I	D's		P's	N	NP's		F's		I's	N	IC's	,	W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Mathematics Department

MATH

								IVIA II	1													
MATH 374 Basic Mathematics	2	24	14	58.33%	8	33.33%	2	8.33%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
MATH 375 Beginning Algebra	2	35	7	20.00%	9	25.71%	3	8.57%	0	0.00%	4	11.43%	0	0.00%	0	0.00%	0	0.00%	9	25.71%	3	8.57%
MATH 376 Intermediate College Algebra	4	56	28	50.00%	17	30.36%	10	17.86%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	1.79%	0	0.00%
MATH 1314 College Algebra	7	94	49	52.13%	22	23.40%	14	14.89%	2	2.13%	0	0.00%	0	0.00%	5	5.32%	0	0.00%	0	0.00%	2	2.13%
MATH 1316 Plane Trigonometry	1	8	3	37.50%	2	25.00%	1	12.50%	0	0.00%	0	0.00%	0	0.00%	1	12.50%	0	0.00%	0	0.00%	1	12.50%
MATH 1324 Math for Bus and Soc Science	2	29	17	58.62%	5	17.24%	3	10.34%	0	0.00%	0	0.00%	0	0.00%	3	10.34%	1	3.45%	0	0.00%	0	0.00%
MATH 1325 Calculus For Bus and Soc Sci	1	8	2	25.00%	3	37.50%	1	12.50%	0	0.00%	0	0.00%	0	0.00%	1	12.50%	0	0.00%	0	0.00%	1	12.50%
MATH 1342 Elem Statistical Methods	3	67	33	49.25%	12	17.91%	7	10.45%	3	4.48%	0	0.00%	0	0.00%	10	14.93%	0	0.00%	0	0.00%	2	2.99%
MATH 1350 Fundamentals of Math I	1	9	8	88.89%	1	11.11%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
MATH 2412 Pre-Calculus Math	3	59	45	76.27%	14	23.73%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
MATH 2413 Calculus I	1	24	7	29.17%	5	20.83%	4	16.67%	0	0.00%	0	0.00%	0	0.00%	3	12.50%	0	0.00%	0	0.00%	5	20.83%
MATH 2414 Calculus II	1	19	16	84.21%	3	15.79%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	28	432	229	53.01%	101	23.38%	45	10.42%	5	1.16%	4	0.93%	0	0.00%	23	5.32%	1	0.23%	10	2.31%	14	3.24%
MATH 376 Intermediate College Algebra	1	12	1	8.33%	5	41.67%	5	41.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	8.33%
MATH 1314 College Algebra	1	18	10	55.56%	4	22.22%	2	11.11%	0	0.00%	0	0.00%	0	0.00%	1	5.56%	0	0.00%	0	0.00%	1	5.56%
MATH 1324 Math for Bus and Soc Science	1	26	15	57.69%	5	19.23%	1	3.85%	0	0.00%	0	0.00%	0	0.00%	4	15.38%	0	0.00%	0	0.00%	1	3.85%
MATH 1325 Calculus For Bus and Soc Sci	1	20	9	45.00%	0	0.00%	5	25.00%	1	5.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	5	25.00%
MATH 1342 Elem Statistical Methods	1	22	5	22.73%	5	22.73%	2	9.09%	0	0.00%	0	0.00%	0	0.00%	4	18.18%	0	0.00%	0	0.00%	6	27.27%
MATH 1350 Fundamentals of Math I	1	25	7	28.00%	8	32.00%	4	16.00%	1	4.00%	0	0.00%	0	0.00%	3	12.00%	0	0.00%	0	0.00%	2	8.00%
Sub-Total (Distance-Ed)	6	123	47	38.21%	27	21.95%	19	15.45%	2	1.63%	0	0.00%	0	0.00%	12	9.76%	0	0.00%	0	0.00%	16	13.01%
Total MATH	34	555	276	49.73%	128	23.06%	64	11.53%	7	1.26%	4	0.72%	0	0.00%	35	6.31%	1	0.18%	10	1.80%	30	5.41%
Total Mathematics	34	555	276	49.73%	128	23.06%	64	11.53%	7	1.26%	4	0.72%	0	0.00%	35	6.31%	1	0.18%	10	1.80%	30	5.41%

		# of	Total		A's		B's		C's	1	D's		P's	N	IP's		F's		I's	N	IC's		W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

						Perfor	ming	g Arts I	Depai	rtment												
								DRAM														
DRAM 2121 Theater Practicum IV	1	11	11	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total DRAM	1	11	11	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
								MUAP														
MUAP 1201 Applied Violin	1	2	2	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
MUAP 1261 Applied Guitar	1	5	5	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
MUAP 1262 Applied Guitar	1	1	1	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
MUAP 1281 Applied Voice	2	9	9	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
MUAP 2281 Applied Voice	1	1	1	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total MUAP	6	18	18	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
								MUSI														
MUSI 1306 Music Appreciation	1	14	14	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total MUSI	1	14	14	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total Performing Arts	8	43	43	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%

		# of	Total		A's]	B's		C's]	D's		P's	N	IP's		F's		I's	N	C's		W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Nursing (A.D.N.) Department

RNSG

								MOG														
RNSG 1201 Pharmacology	2	43	0	0.00%	27	62.79%	16	37.21%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
RNSG 2363 Clinical RN Adv Med Surg	1	5	2	40.00%	3	60.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total RNSG	3	48	2	4.17%	30	62.50%	16	33.33%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total Nursing (A.D.N.)	3	48	2	4.17%	30	62.50%	16	33.33%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%

		# of	Total		A's]	B's		C's]	D's		P's	N	IP's		F's		I's	N	IC's		W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

14 25.00%

0 0.00%

1 1.79%

0 0.00%

0.00%

0

Nursing Assistant/V.N. Department VNSG VNSG 1205 NCLEX PN Review 1 27 22.22% 19 70.37% 1 3.70% 1 3.70% 0 0.00% 0 0.00% 0.00% 0.00% 6 0 0 VNSG 2410 Nursing In Health Ilness III 1 29 0 0.00% 16 55.17% 13 44.83% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% Total VNSG 2 56 6 10.71% 35 62.50% 14 25.00% 1.79% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 1

35 62.50%

Total Nursing Assistant/V.N.

2

56

6 10.71%

0 0.00%

0 0.00%

0 0.00%

0 0.00%

0.00%

0

0

0

0

0.00%

0.00%

0.00%

0 0.00%

	# of	Total		A's		B's		C's	J	D's		P's	Ν	P's		F's		I's	N	C's	v	W's
Discipline Description		Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
						Protec	tive S	bervice	s Dep	artmei	nt											
								CJCF	R													
CJCR 1300 Basic Jail Course		13	0	0.00%	12	92.31%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	7.69%
Total CJCR	1	13	0	0.00%	12	92.31%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	7.69%
									_													
								CRIJ	ſ													
CRIJ 1301 Intro to Criminal Justice		15	2	13.33%	7	46.67%	4	26.67%	1	6.67%	0	0.00%	0	0.00%	1	6.67%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)		15	2	13.33%	7	46.67%	4	26.67%	1	6.67%	0	0.00%	0	0.00%	1	6.67%	0	0.00%	0	0.00%	0	0.00%
CRIJ 1310 Fundamentals of Criminal Law		24	6	25.00%	5	20.83%	6	25.00%	3	12.50%	0	0.00%	0	0.00%	1	4.17%	0	0.00%	0	0.00%	3	12.50%
CRIJ 2328 Police Systems and Practices		11	4	36.36%	3	27.27%	3	27.27%	1	9.09%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (Distance-Ed)	1	2 35	10	28.57%	8	22.86%	9	25.71%	4	11.43%	0	0.00%	0	0.00%	1	2.86%	0	0.00%	0	0.00%	3	8.57%
Total CRIJ	3	3 50	12	24.00%	15	30.00%	13	26.00%	5	10.00%	0	0.00%	0	0.00%	2	4.00%	0	0.00%	0	0.00%	3	6.00%
Total Protective Services	4	63	12	19.05%	27	42.86%	13	20.63%	5	7.94%	0	0.00%	0	0.00%	2	3.17%	0	0.00%	0	0.00%	4	6.35%

		# of	Total		A's		B's		C's		D's		P's	1	NP's		F's		I's	N	IC's	v	V's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Reading and Communications Department

								READ)													
READ 375 Advanced College Reading	2	33	0	0.00%	11	33.33%	12	36.36%	0	0.00%	2	6.06%	0	0.00%	0	0.00%	0	0.00%	6	18.18%	2	6.06%
Total READ	2	33	0	0.00%	11	33.33%	12	36.36%	0	0.00%	2	6.06%	0	0.00%	0	0.00%	0	0.00%	6	18.18%	2	6.06%
								SPCH														
SPCH 1311 Intro to Speech Communicatn	1	23	5	21.74%	11	47.83%	5	21.74%	1	4.35%	0	0.00%	0	0.00%	1	4.35%	0	0.00%	0	0.00%	0	0.00%
SPCH 1315 Public Speaking	3	78	49	62.82%	18	23.08%	4	5.13%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	7	8.97%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	4	101	54	53.47%	29	28.71%	9	8.91%	1	0.99%	0	0.00%	0	0.00%	1	0.99%	7	6.93%	0	0.00%	0	0.00%
SPCH 1311 Intro to Speech Communicatn	2	40	1	2.50%	9	22.50%	18	45.00%	2	5.00%	0	0.00%	0	0.00%	6	15.00%	0	0.00%	0	0.00%	4	10.00%
SPCH 1315 Public Speaking	3	64	17	26.56%	18	28.13%	9	14.06%	2	3.13%	0	0.00%	0	0.00%	7	10.94%	0	0.00%	0	0.00%	11	17.19%
Sub-Total (Distance-Ed)	5	104	18	17.31%	27	25.96%	27	25.96%	4	3.85%	0	0.00%	0	0.00%	13	12.50%	0	0.00%	0	0.00%	15	14.42%
Total SPCH	9	205	72	35.12%	56	27.32%	36	17.56%	5	2.44%	0	0.00%	0	0.00%	14	6.83%	7	3.41%	0	0.00%	15	7.32%
Total Reading and Communications	11	238	72	30.25%	67	28.15%	48	20.17%	5	2.10%	2	0.84%	0	0.00%	14	5.88%	7	2.94%	6	2.52%	17	7.14%

		# of	Total		A's		B's		C's		D's		P's	N	P's		F's		I's	N	C's	,	W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Science Department

BIOL

								BIOL														
BIOL 1106 Biol for Sci Majors I Lab	1	13	13	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
BIOL 1306 Biology for Science Majors I	1	13	10	76.92%	3	23.08%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
BIOL 2101 Anatomy and Physiology I Lab	6	90	19	21.11%	35	38.89%	19	21.11%	4	4.44%	0	0.00%	0	0.00%	8	8.89%	0	0.00%	0	0.00%	5	5.56%
BIOL 2301 Anatomy and Physiology I	4	70	10	14.29%	28	40.00%	18	25.71%	5	7.14%	0	0.00%	0	0.00%	4	5.71%	0	0.00%	0	0.00%	5	7.14%
Sub-Total (On-Campus)	12	186	52	27.96%	66	35.48%	37	19.89%	9	4.84%	0	0.00%	0	0.00%	12	6.45%	0	0.00%	0	0.00%	10	5.38%
BIOL 2301 Anatomy and Physiology I	2	47	16	34.04%	14	29.79%	6	12.77%	0	0.00%	0	0.00%	0	0.00%	3	6.38%	0	0.00%	0	0.00%	8	17.02%
Sub-Total (Distance-Ed)	2	47	16	34.04%	14	29.79%	6	12.77%	0	0.00%	0	0.00%	0	0.00%	3	6.38%	0	0.00%	0	0.00%	8	17.02%
Total BIOL	14	233	68	29.18%	80	34.33%	43	18.45%	9	3.86%	0	0.00%	0	0.00%	15	6.44%	0	0.00%	0	0.00%	18	7.73%
								CHEM	[
CHEM 1111 General Chemistry I Lab	1	18	9	50.00%	4	22.22%	2	11.11%	1	5.56%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	11.11%
CHEM 1311 General Chemistry I	1	22	6	27.27%	9	40.91%	4	18.18%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	3	13.64%
Total CHEM	2	40	15	37.50%	13	32.50%	6	15.00%	1	2.50%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	5	12.50%
								GEOL	,													
GEOL 1101 Earth Sci NonSci Majrs I Lab	2	39	15	38.46%	12	30.77%	8	20.51%	1	2.56%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	3	7.69%
GEOL 1301 Earth Sci Non Sci Majors I	2	52	19	36.54%	21	40.38%	7	13.46%	3	5.77%	0	0.00%	0	0.00%	1	1.92%	0	0.00%	0	0.00%	1	1.92%
Total GEOL	4	91	34	37.36%	33	36.26%	15	16.48%	4	4.40%	0	0.00%	0	0.00%	1	1.10%	0	0.00%	0	0.00%	4	4.40%
								PHYS														
PHYS 1101 College Physics I Lab	1	26	23	88.46%	3	11.54%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
PHYS 2125 University Physics Lab I	1	15	15	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	2	41	38	92.68%	3	7.32%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
PHYS 1301 College Physics I	1	26	19	73.08%	3	11.54%	3	11.54%	1	3.85%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
PHYS 2325 University Physics I	1	16	11	68.75%	3	18.75%	1	6.25%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	6.25%
Sub-Total (Distance-Ed)	2	42	30	71.43%	6	14.29%	4	9.52%	1	2.38%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	2.38%
Total PHYS	4	83	68	81.93%	9	10.84%	4	4.82%	1	1.20%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	1.20%
Total Science	24	447	185	41.39%	135	30.20%	68	15.21%	15	3.36%	0	0.00%	0	0.00%	16	3.58%	0	0.00%	0	0.00%	28	6.26%

	# of	Total		A's		B's		C's	1	D's		P's	N	IP's		F's		I's	N	IC's		W's
Discipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Social & Behavioral Sciences Department	t
---	---

GEOG

								GEOG														
GEOG 1303 World Regional Geography	1	10	6	60.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	4	40.00%	0	0.00%	0	0.00%	0	0.00%
Total GEOG	1	10	6	60.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	4	40.00%	0	0.00%	0	0.00%	0	0.00%
								GOVT														
GOVT 2305 Federal Government	4	73	19	26.03%	31	42.47%	19	26.03%	4	5.48%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
GOVT 2306 Texas Government	2	51	29	56.86%	17	33.33%	5	9.80%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	6	124	48	38.71%	48	38.71%	24	19.35%	4	3.23%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
		00	60	66.670	22	04.449	2	2.220/	2	2.220/	0	0.000/	0	0.000/	2	2.2294	0	0.000/		0.000/		0.000/
GOVT 2305 Federal Government	4	90	60	66.67%	22	24.44%	2	2.22%	2	2.22%	0	0.00%	0	0.00%	2	2.22%	0	0.00%	0	0.00%	2	2.22%
GOVT 2306 Texas Government	4	108	76	70.37%	21	19.44%	5	4.63%	3	2.78%	0	0.00%	0	0.00%	0	0.00%	2	1.85%	0	0.00%	1	0.93%
Sub-Total (Distance-Ed)	8	198	136	68.69%	43	21.72%	7	3.54%	5	2.53%	0	0.00%	0	0.00%	2	1.01%	2	1.01%	0	0.00%	3	1.52%
Total GOVT	14	322	184	57.14%	91	28.26%	31	9.63%	9	2.80%	0	0.00%	0	0.00%	2	0.62%	2	0.62%	0	0.00%	3	0.93%
								HIST														
HIST 1301 United States History I	5	95	36	37.89%	21	22.11%	27	28.42%	4	4.21%	0	0.00%	0	0.00%	3	3.16%	0	0.00%	0	0.00%	4	4.21%
HIST 1302 United States History II	5	88	35	39.77%	18	20.45%	21	23.86%	7	7.95%	0	0.00%	0	0.00%	5	5.68%	0	0.00%	0	0.00%	2	2.27%
Sub-Total (On-Campus)	10	183	71	39.77%	39	21.31%	48	26.23%	11	6.01%	0	0.00%	0	0.00%	8	4.37%	0	0.00%	0	0.00%	6	3.28%
Sub-Total (On-Campus)	10	165	/1	38.80%	39	21.51%	40	20.23%	11	0.01%	0	0.00%	0	0.00%	0	4.37%	0	0.00%	0	0.00%	0	5.28%
HIST 1301 United States History I	7	101	26	25.74%	41	40.59%	14	13.86%	5	4.95%	0	0.00%	0	0.00%	7	6.93%	0	0.00%	0	0.00%	8	7.92%
HIST 1302 United States History II	5	76	33	43.42%	26	34.21%	7	9.21%	3	3.95%	0	0.00%	0	0.00%	6	7.89%	0	0.00%	0	0.00%	1	1.32%
Sub-Total (Distance-Ed)	12	177	59	33.33%	67	37.85%	21	11.86%	8	4.52%	0	0.00%	0	0.00%	13	7.34%	0	0.00%	0	0.00%	9	5.08%
Total HIST	22	360	130	36.11%	106	29.44%	69	19.17%	19	5.28%	0	0.00%	0	0.00%	21	5.83%	0	0.00%	0	0.00%	15	4.17%
								PHIL														
PHIL 1301 Introduction to Philosophy	1	10	3	30.00%	2	20.00%	4	40.00%	1	10.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total PHIL	1	10	3	30.00%	2	20.00%	4	40.00%	1	10.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
								PSYC														
PSYC 2301 General Psychology	4	93	57	61.29%	20	21.51%	12	12.90%	1	1.08%	0	0.00%	0	0.00%	3	3.23%	0	0.00%	0	0.00%	0	0.00%
PSYC 2314 Life Span Growth and Dev	3	59	35	59.32%	22	37.29%	2	3.39%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	7	152	92	60.53%	42	27.63%	14	9.21%	1	0.66%	0	0.00%	0	0.00%	3	1.97%	0	0.00%	0	0.00%	0	0.00%
		11.0	00	77 500/		10.05%		0.45%	2	1.50%	0	0.000/	0	0.000/		0.45%	0	0.000/		0.000		1.50%
PSYC 2301 General Psychology	6	116	90	77.59%	14	12.07%	4	3.45%	2	1.72%	0	0.00%	0	0.00%	4	3.45%	0	0.00%	0	0.00%	2	1.72%
PSYC 2314 Life Span Growth and Dev	2	40	20	50.00%	11	27.50%	4	10.00%	0	0.00%	0	0.00%	0	0.00%	3	7.50%	0	0.00%	0	0.00%	2	5.00%
Sub-Total (Distance-Ed)	8	156	110	70.51%	25	16.03%	8	5.13%	2	1.28%	0	0.00%	0	0.00%	7	4.49%	0	0.00%	0	0.00%	4	2.56%
Total PSYC	15	308	202	65.58%	67	21.75%	22	7.14%	3	0.97%	0	0.00%	0	0.00%	10	3.25%	0	0.00%	0	0.00%	4	1.30%
								SOCI														
SOCI 1301 Introduction to Sociology	1	6	4	66.67%	2	33.33%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
SULT 1301 Introduction to Sociology Sub-Total (On-Campus)	1	6	4	66.67%	2	33.33%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-rotai (On-Campus)	1	0	4	00.07%	2	33.33%	0	0.00%	0	0.00%	U	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%

SOCI 1301 Introduction to Sociology	4	52	30	57.69%	6	11.54%	7	13.46%	3	5.77%	0	0.00%	0	0.00%	1	1.92%	0	0.00%	0	0.00%	5	9.62%
Sub-Total (Distance-Ed)	4	52	30	57.69%	6	11.54%	7	13.46%	3	5.77%	0	0.00%	0	0.00%	1	1.92%	0	0.00%	0	0.00%	5	9.62%

	# of	Total		A's	I	3's		C's		D's		P's	N	P's]	F's		I's	N	IC's	۲	V's
Discipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Total SOCI	5	58	34	58.62%	8	13.79%	7	12.07%	3	5.17%	0	0.00%	0	0.00%	1	1.72%	0	0.00%	0	0.00%	5	8.62%
Total Social & Behavioral Sciences	58	1,068	559	52.34%	274	25.66%	133	12.45%	35	3.28%	0	0.00%	0	0.00%	38	3.56%	2	0.19%	0	0.00%	27	2.53%

		# of	Total		A's		B's		C's]	D's		P's	N	NP's		F's	J	I's	N	NC's		W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

				,	Trai	nsporta	tion '	Гесhno AUMT		Depar	tme	nt										
AUMT 1281 Cooperative Education I	1	5	5	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total AUMT	1	5	5	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
DEMR 1447 Power Train II	1	11	6	54.55%	5	45.45%	0	DEMR 0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
DEMR 2348 Failure Analysis	1	12	8	66.67%	3	25.00%	1	8.33%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total DEMR	2	23	14	60.87%	8	34.78%	1	4.35%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total Transportation Technology	3	28	19	67.86%	8	28.57%	1	3.57%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%

	# of	Total	A's		B's		C's]	D's		P's	N	NP's		F's		I's	N	IC's	,	W's
Discipline Description	Sects.	Enrollmt	# %	,	# %	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

						Culir	nary	Arts De	epart	ment												
								CHEF														
CHEF 2280 Coop Ed Culinary Arts	1	8	7	87.50%	1	12.50%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total CHEF	1	8	7	87.50%	1	12.50%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total Culinary Arts	1	8	7	87.50%	1	12.50%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%

		# of	Total		A's		B's		C's]	D's		P's	N	√P's		F's		I's	N	C's		W's	l
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	I

	Total All Departments	236	3,826	1,779	46.50%	1,035	27.05%	518	13.54%	110	2.88%	18	0.47%	0	0.00%	155	4.05%	25	0.65%	30	0.78%	156	4.08%
--	-----------------------	-----	-------	-------	--------	-------	--------	-----	--------	-----	-------	----	-------	---	-------	-----	-------	----	-------	----	-------	-----	-------

Success Rate (Grades A,B or C):	3,332	87.09%
Passing Rate (Grades A,B,C or P):	3,350	87.56%
Failing Rate (Grades D,F,I,NP,NC,W):	476	12.44%
Retention Rate (Excluding W's only):	3,670	95.92%